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DEPARTMENTAL EXAMINATIONS (COMPUTER BASED TEST)

Name of the
Test:

Maximum Time: 2.30 Hour .~ -

Departmental Test in the Manual of
Firemanship for Officers of Tamjl-Nadu Fire

and cue Services - First Paper
(WitHout Books)

053 4

Maximum Marks: 100~

IMPORTANT INSTRUCTIONS

OBJECTIVE TYPE
QameTGM eueng eNeurms e

Read the following instructions carefully before beglnnmg to answer the
questions.

NamésEréH© el Wweflsss Qg,rerJ@m (LD6ITL] SLD& & 6TuL g@mmq&mm&s
SEUTLONSL Lilg &&H6LD.

1.

This computer based Test contains 100 number of questions in objective
Type.

Qpss senefl eulfly Csieumsmgl, 100 QAaMTIGM eumSUNeLTsT ENATTEHSHM6TS
Q& mETITL_8)l.

. Answer all questions. Each question carries one mark

SIS NATESESGL oL weNdsad  @aQeaur@m olamad
HUCLIETT 2_enL_LLIG).

In case of doubt, English version is the Final.

allemésened FHCHHED QEUTer gRHo eugelldd QasTEESILL [HeerT
elernésGor @miHiimeng).

Words of masculine gender in these questions shall, where the context so
require, be taken to include feminine gender.

Qng eamésened @b Qubmieter guen LTSS Geuflsit eujsemssefed
CoemauliLgedt,  &WesCHHU  Qussm  UTOTSSUR6ET  UTTEHMESEBLD
SILRIGLD.

Before answering the questions in CBT, candidates should read the following
instructions displayed in the monitor:

aflgnemiugniser saoiall aufis CajalnE oloLwelsssd QFTRIELD
Werr  saflaNullsst  Hevgulled  CHTAIMILD  DEYDOIEHMET  SHEUGTLOTEL]
Lig &6 LD.

a) One question will be displayed on the screen at a time.

2Cr ChrsdHed @@ el L ECL safallsy Hoqulcd Comem)ib.
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Which one of the following gas as wide range of flammability limits?
Qereusid umysseid abs amy ifls seteld § uppd Sper Gasmem g ?

(A) Methane (B)g##Acetylene
BsCge 8L eSlabr

(C) Butane (D) Ethylene
Gy GLe eT el 6r

What is the stoichiometric mixture of methane?
BsCseflan evCLrEAGUTQLL NS sweme eramear?

A  1.9% (B) 8.9%
(9/ 9.4% (D) 10.1%

What is the burning velocity of stoichiometric methane — Air flame?
BsCser sTHH SQHS Seenauular CLrECun@wLNéder eriigeden Geusld ereier?

(A) 45 m/s (‘B) 0.45 m/s
45 5/Qs 0.45 5/Qs

(C) 450 m/s (D) 4.5m/s
450 5/Q& 4.5 5/Qs

Which of the following temperature will be low for a substance?
em Qumrmefar YeareuheuaraipmieT erbs Qeautiuflene lasEGMDHSSI ?

(A)y” Flash point (B) Fire point
J Qermeiy LimuSlairi S Lmullagr
(C) Ignition Temperature (D) (A) and (C)

@ éaftfler Lmullegr (A) wpmiw (C)

Which one of the following is not an oxidizing agent?
QeraumaiareuppieT 78 psedleL ik ghlgar . Gdaa?

(A) Oxygsn (B) Nitril% acid{ﬂ
2 Genl gRen epL(flé &l
(C) Chlorine (D ydrogen
&Germila \yg,a_nmqgm
3 029/DD/21
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6. The mixture of LPG

LPG-éir soveneu wing)?

(A) Propane and Methane (B) Methane and Butane
yytGuetr whmib B&5CHe 1B&Cgen whmid Gyl Greir
(g)/ Propane and Butane (D) Butane and Ethane
yytiGuel whHmid Ay, GLer Q- Cresr wpmitb FECaen
T A liter of LPG, when it converted to vapour, how much in liters?

em O LPG aggenar el L eumujeuns wmmb?

(A)g 270 liters (B) 370 liters
270 &Sl 370 eSl_Lir

(C) 470 liters (D) 570 liters
470 oSl 570 &Sl

8. LPG is odourless and colourless for the safety, to identify the leakage of LPG, what
was added?

LPG sai wpmib wemd oippgl. aaGe, sifléd CaissiiulL freusder duwi ererer?

(A)” Mercaptan (B) Methane

y Quité& e B&Cxen

(C) Ethane (D) Soap Water
& Cgen Gamiiy Bir

9. What is the boiling point of propane?
yruGuesr eurwyellenr GQamdlblency ereses ?

A)  —62°C Y(%/—42"0
(C) -72°C ) —32°C

10.  Which one of the following substance has higher vapour density?
Gemeumid QUL safler erg s oL TeH Damer g ?

(A) Propane (B) Methane
yruGue B5Cg e

(C) n-butane &y n-heptane
n—9Qyr GLen n—GaniGL e

029/DD/21 4



11.

12

13.

14.

:

Portable powder extinguisher are available in sizes ranging from?
panL_penpuied SwemariLITaTseT arhs Tl HMID aTaild SHeLsdlamper?

(A) 2-8Kgs (B 1-12 Kgs
2 - 8 44 ‘/1-12951351
(C) 6-8Kgs (D) 3-10Kgs
6 - 8 84 3-10 &4l

What is the Halon no of BTM?

BTM-éir Gamevein eTeim 6Teima ?

(A) 1001 (B) 1011
(C)/ 1301 D) 1211

What is the operating pressure of various types of powder extinguisher?
o @it TGy SLEMETLTEE®MET @aWTEELGUTE GhUBL AWSSWD ererer?

(A) 8-9bar (B) 9-12 bar
8-9 umi 9-12 unn
(C) 7.5-15 bar (D) 6-9 bar
y 7.5-15 umr 6-9 umm
Generally CO3z extinguisher stored in ——— bar pressure.
QuigaTs aaieuaTa) Si(pss580 CO2 Swemamiiumer @aussILHEDS ?
(A) 45 bar (B) 56 bar
45 umr ) 56 umi
(C) 65 bar (D) 35 bar
65 um 35 umm

What is the expansion of COz ratio in COz Extinguisher?
CO: Swevemrtiumafiey COz eflflauani b efldlgd eremes?
(A) 550:1 (B) 305:1
(C) 250:1 Qy 450:1

5 029/DD/21
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16. How is mechanical foam produced?
Qussralssd SUGUMD eaieurmy 2 Husd Qeuwtiu@GEpg) ?

(:iy By adding foam compounds to water and violently aerating the mixture
samef (e ey semasmer Cariugrgib LHnD Hs srhy Cassdleanmgb
(B)

By the interaction of two chemicals
Qrar® CauduGumm seafler efevarseaiearme

(C) By adding aluminum sulphate + sodium bi carbonate + stabilizer
aigflanub gdGuL + Gsmquib eu sriuaGar’ + foelu@ss suufernme

(D) By adding aluminum sulphate + sodium bi carbonate
oigiflanub soGul + Gemgwib eu sriuaGen seriLglermed

17.  Protein (P) — foam compound characteristics
LGrmiigesr (19) —eir mienT seveveuudicn Ly

({3&)/ Very stable + good burn-back resistance
e 2 puner + pan@ erfwsamigw ety

(B) Unstable + good burn-back resistance
Heowpp + penE erflwssmipw gy

(C) High contamination resistance
o WIfr Lo Tl

(D) Relatively quickly
UL Leredléd eflenyeuns

18. Expansion of AFFF
AFFF aremugen eflfleunésid
(4 Aqueous Film Forming Foam
(B) Aqueous Film Forming Protein
(C) Aqueous Film Forming Fluorochemical
(D) Aqueous Fluoride protein Foam

19. Expansion of FFFP
FFFP erenugen aflfleurésd
(A)/ Film Forming Fluoro Protein
(B) Film Forming Foam Protein
(C) Film Foam Fluorochemical protein
(D) Foam Film Forming Protein

029/DD/21 6



20.

21.

22.

23.

24.

What is alcohol resistance foam?

D OSQDT T HIENT TEMDTED CTETaT ?
(A)  Fluorochemical -R

(B) Aqueous film forming foam-FR

(C) Aqueous film forming foam - R
Ey Aqueous film forming foam - AR

Abbreviation of LPM
LPM-—eén eflfleunsgsid
(A) Long Pressure Mode

(B) Low Pressure Mode

Liter Per minutes
(D) Both (A) and (B)
(A) wpmd (B) @ream@id

Abbreviation of RPM

RPM-—ér el fleunésid

(A) Rotate Position Mode
(B) Rotate Pressure Mode
(C) Rotate Pump Mode
(‘Iy Revolution Per Minutes

Normal RPM required for water ring primer?
aurc_ i Ak Qevgomée Cemauiu@b Gaopps RPM eadiaiera ?

&7 2500 rpm (B) 2000 rpm
(C) 3000 rpm (D) 4000 rpm

What is the normal output of portable pumps?
Adlw ubysefiar sgrefl Hi QeueliCGupmid Hper ereuauaray?

(A) 4000 LPM (B) 3000 LPM
(C) 2000 LPM Q/ 1130 LPM

7 029/DD/21
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25.

26.

27.

28.

29.

What kind of primer is mostly available with portable fire pump?
Aflw euens LIbLSERES We Qumrmssorear ey 6rg) ?

(A) Reciprocative (BY Exhaust
QreluiyCrrGsigeu CTEHETEVL

(C) Water ring (D) (A), (B) and (C)
GuTL_LiT Mk A), (B) wpmiw (C)

Normally how many outlet in the portable fire pump?
Al auens LbLsafld assamar QLelleufl eumee ser 2 dremer?
@’ 2 ®) 3

C€) 4 M) 1

Which one of the following dia hose has more pressure loss?
QGeraumd Biel® Gprisee aps oL Qsmar.  SiellEEpmd 28E  AHWPHS
@ulienu Qarerr g ?

@ 45 mm B) 55mm

(C) 65mm (D) 75mm

Which one of the hose can withstand the internal and external pressure?
aThs euena @GPl 261 wHYID deuell BWPSSEPS FTRSSE il ?

(A) Delivery hose (BY Suction hose
bir 96 @i bir 2 Hlgpe Gpm
(C) Both (A) and (B) (D) Not (A) and (B)
(A) vpgd (B) GramGid (A) vppd (B) @rar@fidee

What is the equivalent pressure of 15 meter head?

15 B L Qanl @ @eremmuiner Bi(PSSLb ereve ?

(A) 150 bar (B) 15 bar
(gy 1.5 bar (D) 10 bar

029/DD/21 8



30.

31.

32.

What is reason for failure of prime?
Genyifify &M @) (H&HS STIERTLD GTGTE ?
(A) Lack of water in the water ring prime
aurc i Ak Qenyofe B @Gopeuns 2 drargsme
(B) Compound gauge cock closed
srbueya Camadlear &mé apL Ll (HeTarsme
(C) Suction strainer not adequately submerged
Qedaen GuenLani Saraiied ApDSTDD @) (HLILISTED
D)y (A), (B) and (C)
(A), B) wpmid (C)

What is medium for smoke?
Lens Loy Gseneuuimen 2arl_sib Grese ?

(A) Solid (B) Liquid
gl Syeulb

(C) g Gaseous (D) Solid and gaseous
eumy S wHmib aimuy

What is micrometer?
@ w&CIMBLLIT TETmTEd 6TaiTen ?
(A) A micrometer is hundred millionth of a meter
@@ @w&GrmbLLT erarug Bl Woelweafler g B
(B) A micrometer is one thousand millionth of a meter
@ awsCymBLLiT ererug) <ufyd Waoelwefled @@ BrLir
&(y A micrometer is one millionth of a meter
e @wsGrmBlLi aaug Wodlwald e B
(D) A micrometer is ten thousand millionth of a meter
@ ewsGrmblLi eetug LssTuigb Waedlwaled e S

9 029/DD/21
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33. What is nanometer?
prGarmBL LT erampmed ereden ?
(;A)/ A nanometer is one thousand of micrometer
@ prarmBLLit eranLig 2bulTsHed @ @wsGymbr
(B) A nanometer is ten thousand of a micrometer
@ préarmBLLir erarLg LUSSTUTSSD @B an&GrmSLLT
(C) A nanometer is hundred thousandth of a micrometer
G prearmBLLi aarug pIMATEHe @ awsGymBLlL

(D) A nanometer is five thousand of a meter
o preamBLLT aarg gheTdrsde @ owsCymbri

34. The optical properties of a particle will affect light by which of the following?
o gaaflar gaflullued uaryser, gafl abs ssdler LTHsdmg ?

Qy Absorption or refraction (B) Cooling

o Mghase (1) gefl afload @aflirgdudanmed

(C) Radiating (D) Heating
sdlieiFslenme QauiugSermed

35. What is the usual coverage area for ionization detector?
Qugieurs Swaflwnés ser 9 Liurafler LFL ereen ?

(A) 1000 square meters (B) 10 square meters
1000 sgySiLit 10 sgypBLLir

(9)/ 100 square meters (D) 1 square meter
100 s 1 sgyBri

36. Positive ions are attracted by which of the following?
Geneumeuarauper Coiwen swellser erpearme rirdsLuH&lemper ?

(A) Positive plate

Crirenp 5806
(B)/ Negative plate
J adiven 550
(C) Both positive and negative plate

Crit wHmb aivep s&66 QIO
(D) Not (A) and (B)
(A) wpgid (B) @renGiidme

029/DD/21 10



37.

38.

39.

40.

What is the meaning of atom become positively charged?
g Cpirblerer L b eramig) QUT(HeT eresen ?
(A) It has more electrons than protons

G reansamereilL ifls s Treanamer Glameaiy (HLLg)
£Ey It has more protons than electrons

aqaslransameral Hfa LCrTlLrergemer Glamairig (mLrLg)
(C) It has more neutrons than protons

LCrriLnensemarell oifls Flu,l rrensemer Glameriq (HLiLg)

(D) It has more protons than neutrons
oifls Byl rrensmereil 2fls LGTL L narsemer Gameig.(hUiLg)

Heat is transmitted in how many ways?
ersgaman auflsafier Qeutiub Lyeydlmg ?

(A) One (B) Two

raful b
(C)p Three (D) Four
~/ e e e (s

Example for man made Ultraviolet radiation
wellgeammed e (ardsiiul L Up sast sdlicisasater arhidsissT 6 ?

(A) Current (B) Battery
LSl e&myLd Bl e eve

(C) Trees (D) Tungsten lamps
LDl & 6T LrievL e efleTd@seT

Which is Natural source of Ultraviolet radiation?
ypestgt, sHflusasder @ubens HFTID 6T ?

(A) Moon (BY Sun
Fb& rer & Mwetr
(C) Planets (D) Trees
Slysniser LD &l &ET
11 029/DD/21
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41.

42.

43.

Which one of the following is not a routine maintenance of breathing apparatus set?
Qemeumeuareunied 678 Haunas sHedl a6 aupdsorar Lymofliy ide ?
(A) After use the apparatus should be cleaned
LweTum_igHE WUnE Qubdrsems assb Gauw GeuarHibd
(B) The face mask should be washed and disinfected
W&l swel milsear fssriuL Gauarhib
(C) The visor should be anti-dimmed
GareTulenL T DESLTE @) (HES GeueisrLrmib
(W If the cylinder pressure is less than 80% of the maximum charging pressure,
the cylinder should not be replaced by a fully-charged one
ofsuugurar sridd wssd 80% & GOPAUTE QHHSTE SedlaiorL_enry
Wppemwwrs Frigy Qelw @pirwng

When did the breathing apparatus cylinder should be replaced by a fully recharged
one?
seunss smeilule earer Adlan (6@ Ldoms pep@obwns HFLuLuLL SeSlesorrr
aiGung wrHn CeuarT(HILD?
(A) If the cylinder pressure is less than 10% of the maximum charging pressure
o (FeneT (PSS FslIuLsLNE TR Gl S\(psssHe 10% &@ G@DPUTSH
Qepsme
(B) If the cylinder pressure is less than 30% of the maximum charging pressure
o (maeT DiPSSHD HsLLLswLNE ETig DElubd 2sssHe 30% && Gopauns
BopsTe
(C) If the cylinder pressure is less than 50% of the maximum charging pressure
o (HEneT (PSS AHSILLFLTE sl GFnud 2WHssHe 50% &@© GMDPTS
BOHSTD
(13)/ If the cylinder pressure is less than 80% of the maximum charging pressure
o (FeeT Ji(PSSD HaEULFOTE EiEy GFELD Si(WpsssHe 80% &@ @GpauTs
QoHsTe

The rubber and neoprene components of breathing apparatus are liable to
deteriorate as a result of exposure to which of the following?

QearaumeuaraupPed ergen Qeualliumigen eflaereurs saunes smedudenr guuUf WHMID
HCwr9fer samiser GomsaL dlemper?

(A) Aggressive chemicals (B) Ozone
Sellyomen @UrETweTh&6T @Camer

(C) Sunlight (‘ly(A), (B) and (C)
&fw gafl (A), (B) wpmid (C)

029/DD/21 12



44.

45.

46.

47.

48.

Which of the following is an important safeguard for breathing apparatus wearers?
seunsd smalladr seflucisEnsE wasdwwrer urgarieu et agl SHEDS ?

(A) Distress sign unit (B) Disturb signal unit
IgevL_ge engenr wheifll el Heered wefl

(gy Distress signal unit (D) Distress singing unit
igevL_ev flsared wefll gevlgev Smdln wyefll

The weight of the distress signal unit must not be more than

g euL_yev Héared upefl —er ereni - L pflaswns @) (mEsssn L Tg) ?
(A)Y” 625 gm (B) 25gm

625 fymb 25 flgmd
(C) 125gm (D) 1000 gm

125 flymb 1000 &gmib

Breathing apparatus cylinders should be subjected to periodic hydraulic testing
seunss smell SHdan_isdr eman’grdlls ufGsrgoase 2L upss Geadmgw &
@ en_GQeuafl eresrer?

(A) Every 4 years ( Every 3 years

4 HHEERES POHUPPD 3 Y@HHERES RHLPDD
(C) Every 5 Years (D) Every year

5 HAHEEHES ROHUP®D AT HES RO

Which of the following is a formula for calculating working duration for breathing
apparatus?
Geneupeuaraupiler saunsssmaluier Geuame Cprb samsdHeugharean GSS D eremer ?

(A) D=(P*C/N*40)-40 (B) D=(P*C/N*40)-30
(C) D=(P*C/N*40)-20 (D) D=(P*C/N*40)-10

In formula D=(P*C/N*40)-10, P stands for which of the following?
D=(P*C/N*40)-10 erenrp &sHr68e, P aranug Gemeumeuaraupbler ergeer @hl&@b?

(éy Pressure in the cylinder (B) Cylinder capacity in liters
2 (HemaTuiled 2 6TeT (PSHLD et Qamerarey Sl Lfe
(C) Positive time (D) Negative time
Coirwenn Crybd adirwenn Cryb
13 029/DD/21
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49. Which of the following is not a duty of officer-in-charge regarding breathing

apparatus?

sourss smedler o LGurssHarCurg Yearaumeaaraupdled g GuTpLL <ilarilullen

Lienfl 2j6be ?

(A) Deciding whether breathing apparatus is required to deal with the incident
shLasms swnellss saunsssmel Camaliu@orar aaums Sionafssd

(B) Deploying breathing apparatus teams as necessary and ensuring that they are
as well briefed as possible on the task
saunssamel seflag SsHuTafubrast aaLMSLD, g Uil e
araruegub urTss Ceua(ib

(C) Ensuring that enough breathing apparatus and associated equipment 1is
available to deal with the incident
shuausms someflss GuIgTar &sFeuUTss&sHe WLHHID D QgriyenL_w
o LSTETRIGET 2 dretareur earatLes 2 mif Qawuw Geuam(hHib

([y At the time of incident breathing apparatus handover to public
sbLeusden Curg sansssmelfear Qugwéseib QarHriug)

50. Which of the following factors should be taken into account for breathing apparatus
entry control points?
saurssasmed Bowe) sLEUUIH Ldaflsmer HuTBSsaI®Y Qereupd amyeniisefie ereng
BLD &SSO C&TeTaTddn Mg ?
(A) The size of the risk area
@i ugduller oieray
(B) Wind direction
&THDI&@ED Hans
(C) The location of access points to the risk area
@it uGHulenr sigmsd Leraf
D)/ (A), (B) and (C)
(A), (B) wpmb (C)

51. There are three type of pumping appliances in JCDD which is not correct from the

following?

JCDD-& eperp cuens 2 hdl o LISJERTEIGHT o eTeTear sgafler Spaar_euphld g
SUDTETS ?

@&/ JCcDD 10 (B) JCDD 3/1

(C) JCDD 4 (D) JCDD 18

029/DD/21 14



D2.

53.

o4.

55.

56.

57.

How many types of pump mountings?
THBMaT euaSWTET LbL Qomere, e iq ks 2 6TaTer ?

A 1 (B) 2

© 3 (p)/ 4

Abbreviation of BHP

BHP erétugern eflfleunssid

(A) Brake hose power @)/Brake horse power
(C) Brake hosereel power (D) Break hose power

How many types of PTO?
assman amswnear PTO 2 drerg 2
A 1 B) 2

o/ 4 D) 3

What is the length of Hosereel in special tender?

Aouiy saridufer Hosereel Hard eretrar?

(A) 50 meter (BYf 55 meter
50 S 55 B
(C) 60 meter (D) 65 meter
60 S 65 B

What is BAT?
BAT eremug, erewer ?

Breathing Apparatus Tender (B) Breathing Appliances Tender
(C) Bag Appliances Taxi (D) Branches Appliances Tender
Abbreviation of CABA

CABA —éir éflfleurésid

(A) Compressed Air Breathing Appliances
(B) Compound Air Breathing Apparatus

(C) Compound Air Breathing Appliances
(~Iy Compressed Air Breathing Apparatus

15 029/DD/21
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58. What is C-I-U?

C-I-U eremuigy erema ?

(A) Control Incident Unit ®/Chemical Incident Unit
(C) Incident Control Unit (D) Incident Chemical Unit

59. LPG stands for

LPG erenug)
(A) Light Petroleum Gas (B) Low Pressure Gas
((y Liquefied Petroleum Gas (D) Liquid Petroleum Gas
60. Catch on the lower part of a ladder is ————— which prevent an extension above
from running back.
Brgoy gaflear God usd &Gp Gprsmod, UGS UTHETULNS
Qg &Hmg ?
( Pawl (B) Foot
y Lieued UmgLd
(C) Pulley (D) Rung
s genflliug

61. The rubber gloves usually by the service are those which are tested to

Qumgieuns Geeeusafled LUETURSSLILBLD  JUUT &L DS 2T
CendasliLpEerpern.

(A) 5000V @/15000V

(C) 10000V D) 240V

62. Which of the following is powered equipment?

Spser_ape g v @ (powered) e LisyeRd?

(A) Hydraulic Jack (B) Tirfor
eanL_gredld s T AT

(gy Hydraulic cutter (D) Flame cutting equipment
@@l redlé s L SUIGETD &L gl 2 LISTeRTLD

029/DD/21 16



63.

64.

65.

66.

67.

Which of the following is non powered equipment?

Epsam_aupdle) ergl pren e @ (non powered) o LisganTLd?

(Ay/ Hydraulic Jack (B) Hydraulic Cutter
@anl Tredld oré @anL_yredlé s i

(C) Hydraulic spreader (D) Chain saws
eanL_yredd el L Qeuler agm

What is the high pressure of air lifting units?
it Alig i el —&Emar 2 Wit (PSS eTevme ?

(A) 0.5 bar (B) 4.5 bar
((y 8.5 bar (D) 10.2 bar

What is the lifting capacity of Air lifting units?
g gl welll —ar gré@d Sper ereer ?

(A)yr from 5t to 70t (B) from 20t to 45t

5t g 70t pyw 20t s 45t piguw
(C) from 20t to 25t (D) from 5t to 25t

20t psed 25t pigw 5t s 25t prw

A special small cutter has been designed operated by a hand worked pump to a
pressure of

Aoy HAPw sLLT s Ssssdd Cauee Gelwybd auansulled
Qulg UGN D&SLILIL (DETaTg) ?

(A) 650 bar _@/690 bar

(C) 170 bar (D) 90 bar

Which gas is not used in flame cutting equipment?
g SUGerd SLig 2 LETaSO LwaLESSULGLD Qi {ehev ?

(A) Oxygen (B) Acetylene
<6l et S8 Lelerr
(C) Hydrogen (D) Propane
*y QU L_TEet yruGuen
17 029/DD/21
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68.

69.

70.

i 18

Which of the following is not correct?

Gereu(meuameumbled ergl SeupTeng) ?

(A) The “Tirfor” TU 16 equipment is a hand operated pulling and lifting machine
Tirfor TU 16 s@med araiug @swuned @Quésssaiqu @WSsD WHMID HIHSSD
Qupdyd @D

(B) Working load of “Tirfor” is 1600 Kgs
Tirfor TU 16 —é Ceauenew seown 1600 &4

(C)  Acetylene gas is normally used in flame cuffing equipment
SUGETD &g o UsTaTsHle SdllLdler aumy Lweau@ESsuLGEDS

(D)4 Pedal cutter is a powered equipment
QUL SLLIT eTerLgl (h Ueum_({ e LsTeamTLd

In services Rubber gloves is used upto

Ceemeuufenr Cumg @rUuUT  @sL@®DESEMET auey WLWLHGL uvweTLBHSS
Geuas(hid.

@/ 3300V B) 250V

(C) 240V (D) 15000V

In “Tackle”, Velocity ratio is always equal to the number of parts of the fall of the

umpb QusEn sphear HosCeas g erl@uTpgID apaflulen
L@dsalen aanafémass sLLIE GHBESD:
(A) Standing back y Moving back
euGL ey Gué Geir B&(HLD
(C) Moving front (D) Running part
(P& H&(HLD genefla Limi

Which one of the following comes under Group C occupancy?
Epsar_eupihler Group C-&aman <p&ATOLY 6rgl?

(A) Residential Buildings (B) Educational Buildings
GBIy SligL b &6l S lgL BISET

(CYf Institutional Buildings (D) Assembly Buildings
@) ermaviq ULevered &L igL D @& Yafl sL1gL Bi&eT
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72.

73.

4.

75.

76.

As per NBC hotel building comes under the classification of

NBC-e&rm uig @l L é &ligLbd

auanasufer &1 aumAng.

A5 (B) A2
(C) A3 (D) A4
As per NBC width of staircases should be provided for assembly building.
NBC-er U Gsnlell sl msE@hsE Ssod  Qarewr  Ulg&eT
Siemw&sLuL. GeuaHib.
(A) 1 meter (B) 1.5 meter

18 1.5 B
((})/ 2 meter (D) 2.5 meter

2 8 2.5 S

Educational building should not be exceed
&6l &Ll L MBIGET
(A) above 35 m

35 B (p&@ G

(C) above 40 m (D)
40 B L (méE Cued

-&@ G QHés salg).

y

above 30 m
30 B (p&@ G

above 45 m
45 B L (p&@ Coed

For Group J and H Occupancies, human inhabitation shall not be permit above

Group J wppd H sfrluys@nés
S HESS Fal Gl

(A)# 15 m height (B)
15 S Lt 2 wipd
(C) 10 m height (D)

10 B Lfr e wipd

&@ Cweé weallgea ampasHE

20 m height
20 S i e wigd

17 m height
17 S it 2.wigb

Which one of the following fire safety shall not be provided in platforms?
Gemeumeuareupdles 678 &SLgLRISEHES QaualCu QuImSSILGHDL § LUTHSTUL STSETD

<66V ?
(A) Internal Hydrants (B) Manual Call points
GlanLirared ep@nL e Guoeeued &med Limudlesr
(C) Portable Extinguisher (P/Detectors
GumL 6 Swienamriiime g QLL_mireh
19 029/DD/21
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77. If the staircases cannot be ventilated a positive pressure shall be
maintained.
sTHCDTL L1 @éders ugs () UGSuid < Cpiibern (WSS B ([HES
Geuar(pHib ?
50 Pa (B) 30 Pa
(C) 20Pa (D) 8Pa

78.  Floor Area Ratio (FAR) is
geTb LGS eigd

(y FAR = Total covered area of all floors / Plot area

(B) FAR = Ground floor area / Plot area

(C) FAR = Plot area / Total covered area of all floors

(D) Not (A), (B) and (C)
(A), B) vpmw (C) ggiejfdame

79. Multiplex mall comes under the classification of
g CiaTde LT ahs eumswler &b aiBSDS ?

& D6
©) D2

(B) D1
(D) D4

80. What is the Occupancy load for residential (Group A)?
Group-A @uuilGUdd s8ndllL smLw ereer?

(A) 14.5 mf/person
14.5 8" | @meur

(C)y 16.5 mf/person
16.5 8 /ep(meur
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81.

82.

83.

Which one of the factor reduces the pressure loss in the hoses?
Brell® @uruseie) Bi(WPSsD G@DaIGHaETET smyentl erg)?
(A) Small diameter hose

AL b @epeunar Birell( & pmiiser
(B) Long length hoses

Berworer hirefll( Gpmiser
(Cy” Smooth internal lining surface

Queenwinar & L Ln&giLer gnigw Gupurliy Brefl® @pmiser
(D) None of the above

@eeusaiier egibldename

Why synthetic yarn used in hose manufacturing?
Bircl® @pm surflude Hpss Eroser LwEaTLHSSIS e ?
(A) Reducing kinking

Erefl® @wruier @UREETT (PHISHGS®ET &@PULSDHETS
(B) Resistance to water hammer

Bher SipsssdnE adims CeudufashsTs
(C) Higher flow rates

sfsorer BOrm_L NflgnsEpssTs
(W All the above

Gemeu SMmTSEILD

Convection occurs only in
Qeutiué sevarnd ghubeig

(éy Liquids and gases (B) Solids and liquids
Sirowb wHmid eumésatiey AL wHmid Hyeurseie
(C) Solids and gases (D) Solids, Liquids and gases
b Hmd eumyssafiic HLib, Sraud wHpib euTL|Gsetd
21 029/DD/21
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84.

85.

86.

87.

The most popular class ABC powder is based
Baa)b Gruebrear 2 efiorey QU aTsmar SigliueLwns Csrem. g ?
(A) Potassium and chromium chloride
Qumt_Lrdwb wppb GCrmblub @GGermens@
(B) Ternary eutectic chloride
QLirerfl (eutectic) ergHa @Carmeny(
(.y Mono ammonium phosphate
CurCarm =Guraflwb urevGu

(D) Diammonium phosphate
L 2Cuwreflwb urevGul

Foam extinguisher, extinguishing the fire by following method
HeTEOMe SU@ETIUTESEET Samul s@ariufle Gereumaaaupner aps papule
QewouBdng ?

(A) Starvation (B lanket

Ul g @fCurge (penm Gumireneu CUTTESZHIGD PO
(C) Cooling (D) None of the above

@aflep Qb perp QaupPled egiLbleenc

One kg of liquid CO: will produce how much free gas at atmospheric pressure?
auaflneaLe 2iWPsssHd @@ SGondymd ereLujerer Araufleve sriLe-oL—pbosh
GTEUGIETE| GUTL|ENEU 2 (HEeUT&H @D ?

A&y’ 0.5 m? (B) 5m?

C) 1m? (D) 10 m3

Ratio of high expansion foam
efsuugurer dflarss pearlan olldgn ererar?

(A) 2:1to 20:1 (B) 20:1 to 200:1
(9/ 200:1 to 2000:1 (D) 2000:1 to 20000:1
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88.

89.

90.

9l.

In breathing apparatus, pressure reduces in the first stage

ap&asEsmeuld psH&L L bME G@Duh sTHbler Si(PSSLD eTeueIeTa, ?

(A) 15 to 20 bar (B)”06 to 10 bar
15 apged 20 umir 06 qpged 10 umm
(C) 01 to 06 bar (D) 11 to 15 bar

01 apger 06 L 11 qpged 15 umr

Length of guide lines
Q& B evevetev—er Hemd erewmer?

(A) 1.00 Meter By 1.25 Meter
1.00 B 1.25 B

(C) 1.50 Meter (D) 2.5 Meter
1.50 S 2.5 B

“Splash suits” means

“eolfarmeiq @l eTETLIZ 6T ?

(A) Breathing apparatus suit
ep&adamedluller euanaTuid

(B) Biological hazard protections suit
2 WWAweé CuAlLim urgsTiL eueeTwb

(‘(y Chemical protection suit
Geaudluuieh LITGSTIL GUEMETWILD

(D) All the above
@mal Jmasgb

Expansion for CPR
CPR eremugen eflfloungsib erebre ?
(A) Compressed Pulmonary Rescue
Fm&ELIULL Bievquigee B Lg
(B) Correct Position of Resuscitation
LSS 2 (HeuTEEGSe Hleve
(C) Cardio Pulmonary Rescue
Qsw perlrasstar By
(D) Cardio Pulmonary Resuscitation
@swb wHDID HETSTRIGESTE LssUlmEBs0

23
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92.

93.

9

4.

Ot

Which one of the following pump is not a positive displacement pumps?

Qemeuqmib LbLsafled erg Coiwenn @LUGAUWTES LD cuMs DD ?

(A) Force pumps (B) Laft pumps
LITTey LILDLY el Ly
(C)# Ejector pumps (D) Rotary pumps
eTOlg&L T Ly Gomfl uby

Which one of the following primer is most commonly used in Fire Service?
SueeiLs gopuld Qageurs LweaTLESSUILEWL ey Qe aupLemeusafle erg)?

(A) Reciprocating primer (B) Watering primer
ufbrHpuu@b e prurger Genywof

(C) Exhaust gas ejector primer (Dj All the above
aumy QeuelGupmid Wengoi Qe dmarsgib

The advantages of using a high nozzle pressure are
man-pHreled Bir SWPSsD LWETLHSSILGUSET HETELDSET GTeme ?
(A) Great striking power

QuilwuefgseamL Qeiiuyb s&8
(B) Long reach

Bawr gy QeepenL$ed
(C) Large volume of water

Hfler ojera] iHsMSsd

(D All the above
‘/ G ey DMATSSID

The outlets from fire mains should be sited in
& Gumi enwHHedmbs Qauefltiyp LGS Sieow Geuaiguig) ?
(A) A fire fighting shaft
& sHuy eulser
(B) Walk way in the open air
Qeuefiliyp srHled perL_LTnS INGEEL
(C) A balcony
Limev&efl

(DY All the above
@emeu SMaTHHLD
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96.

97.

98.

g9,

Which gas is formed, when organic materials are burned?
sfg Gerorer Qur@Lser erfluynd CGuTg eréieuMSWITET QUTL 2 (HUTEDg) ?

(A)r Co (B) N

‘) SITITLIGH enbL_JERe

(C) Cl (D) Inert Gas
&Germeny(h OBSeUTU]

Which hitch is called as lighterman’s hitch?
ThE (P& el LTGLer (pués aapampssiiuGEng ?

({xy Waterman Hitch (B) Rolling Hitch

euml_LfGwerr (g &s Cumelly (pig &a

(C) Fisherman Bend (D) Clove Hitch
Sl 9 TG GlLietr(H Hemeu @&

Basic requirements for resuscitation is
LssWlT QuoeushaTar SigluemL Camaadr wmemeu ?

(A) Adequate airway to the casualty’s lungs

usgs@arerrarauflen meTuiTeisE Curgorar sMHNILLT®S®W o (HeuTEGS®

(B) Head must be tilted back

smsTihs Heoauiled SiemwsseH
(C) The nose mouth and throat must be clear

epd@, auml HPID AsnareL LGS s saLuldad Diewssd
(DY All the above

Gee SmaTSFID

How to measure volume of rectangular tanks with a sloping base?
sTQTaT DigsseTsgLar saiqu QFdieus euges Ggmiguier eTane
gjeredl (Heug) ?

(A) =1xbxhx1000 (B =1><bxh1—;hz—x1000

bxh 1000

(©) =1><th2&><1000 () =1

25
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100. Which one of the following pump is not installed in the main pump room?
Gemeumd Lbysald erg Gsmar LbY e Dsene QumpssLiLBeudeoene ?

(A) Jockey pump (B) Main pump
soné&dl by Gygmer Lbyy

(Cy Booster pump (D) Diesel pump
Lpe LT LIbLY leged LIDL
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